Beetle Weight

Round B C
Sweaver 0 Tweedle 1 Chop Chop 1
1 Vs Vs Vs
D2 1 Zibby 0 Uptech 0
Sweaver 1 D2 0 Zibby 1
2 Vs Vs vs
Tweedle 0 Chop Chop 1 Uptech 0
Sweaver 1 D2 1 Tweedle 0
3 VS Vs VS
Zibby 0 “Uptech 0 Chop Chop 1
Sweaver 0 D2 1 Tweedle o]
4 VS Vs Vs
Chop Chop 1 Zibby 0 Uptech 1
Sweaver 1 D2 1 Zibby 0
5 Vs VS Vs
Uptech 0 Tweedle 0 Chop Chop 1
Round Robin Totals
Sweaver D2 Tweedle | Zibby |Chop Chogy Uptech
1 0 1 1 0 1 0
2 1 0 0 1 1 0
3 1 1 0 0 1 0
4 0 1 0 0 1 1
5 1 1 0 0 1 0
3 4 1 1 5 1
Finial Fight
D2
Defeats
Chop Chop
Rumble
Sweaver
Defeats
UpTech D2 Tweedle Beetle




